Mathematics 325

Exam II Name: :Dr, GYOW
Fall 2012
1.(33 pts.) Solve 1, — Ku_ =0 in the upper half-plane —o0 < x <0, 0 <t <00, subject to the initial condition

u (,\‘, O) =x" if =0 <x <. Youmay find the fact J p dp = % useful.
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2.(33 pts.) (a) Under appropriate hypotheses on a function ¢ = g(x) defined on —00 < x <0, show that
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(b) Use Fourier transform methods to derive a formula for the solution to
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3.(34 pts.) Solve the beam equation

O il 0<x<l, 0<r<am,
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A Brief Table of Fourier Transforms
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(1 if —b<x<b,
0  otherwise.

{1 ifegx<d,

0  otherwise.

(a>0)

2 2

X +a

otherwise.

it x>0,
0 otherwise.
if b<x<e,
0 . otherwise.
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0 otherwise.
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